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What is JeGRAS? 1.

(A} Jharkhand online Government Receipts Accounting
System

(B) Jharkhand online Government Rural & Agriculture
Service

(C) Jharkhand online Government Rural Areas Services

(D) Jharkhand Growth Restructuring Action Scheme

Jharkhand is producing about what percentage of total 2.
steel being produced in country:

(A) 40-50% (B) 10-15%

(C) 20 -25% (D) 30 -40%

State animal of the Jharkhand? 3.
(A) Elephant (B) Lion

(C) Dear (D) Python

Global Skill Summit 2018 was held in: 4.
(A) Dhanbad (B) Jamshedpur

(C) Ranchi (D) Bokaro

It recently won Laureus sports for good Award for year 5.
2019:

(A) A Jharkhand based NGO Yuwa

(B) A jharkhand based tribal community
(C) A Jharkhand sports person

(D) A Jharkhand dancer community

For the development of renewable energy, which 6.
agency was formed in Jharkhand:

(A) JSPCB (B) JSCCAU
(C) JREDA (D) JPDREA
In December, 2018, Jharkhand announces ¥ 7.

scheme to help farmers under Mukhya Mantri Krishi
Yojana-

(A) 22050 crore
(C) 1250 crore

(B) 2250 crore
(D) 22500 crore

" Damodar river of Jharkhand originates from: 8.

(A) Gupta Ganga Hills

(B) Deoghar Tilkut Hill

(C) Padma, Hazaribagh

(D) Latehar, Chota Nagpur Plateau

Find the wrong match of players with their games: 9.

(A) Deepika Kumari — Archery

(B) Mahendra Singh Dhoni — Cricket
(C) Pratima Kumari — Wrestling

(D) Jaipal Singh Munda —- Hockey

One of the following won gold medal in 2010 Common
Wealth Games:

(A) Mishal Banjamin Lakra

(B) Deepika Kumari

(C) Laxmi Padiya

(D) Pratima Kumari
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This festival is celebrated mainly by unmarried tribal
girls and mainly for good fertility and household:

(A) Karam (B) Jawa

(C) Rohini (D) Bandna

Identify the festival with the help of following
statements- '
The village priest takes three new earthen pots and fills
them with fresh water. The next morning he observes three
earthen pots and water level decreases inside. If the water
level decreases he predicts there would be famine and if
normal that is a signal of good rain.

(A) Karam (B) Sarhul

(C) Jawa (D) Tusu Parab

Sardari agitation was resulted because of:
(A) The economic disparity by the Christian converts and
sansari oraons

(B) Agrarian discontent . against . impositon of Begari
(forced labour)

(C) lllegal enhancement qf rent by intermediaries
(D) Both (B) & (C) '

When did Tana Bhagat movement start?
(A) 1905 (B) 1914
(C) 1767 (D) 1850

First tribal leader who took arms in hand against
Britishers was:

(A) Birsa Munda

{B) Buddhu Bhagat
(C) Tilka Manjhi

(D) None of these
Maithon Dam is located in:
(A) Giridih

(C) Dhanbad

(B) Ranchi
(D) Jamshedpur
Aruna Mishra is an Indian:

(A) Archer
(C) Weightlifter

(B) Boxer -
(D) Hockey Player

Lance Naik Albert Ekka died fighting:

(A) Indo Pak battle of 1971
{B) Indo Pak war of 1965
(C) Kargil war

(D) Indo china war

Who is the present governor of Jharkhand?
(A) M.O. Hasan Farock Maricar

(B) Syed Ahmed

(C) Draupadi murmu

(D) None of these

This is one of the most famous festivals celebrated
during the black moon of month of Kartik?

(A) Jawa (B) Sarhul

(C) Bandna (D) Karam
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This is a folk dance performed in the family of 21. %8 & % 7 & frwa Proee Ras 3 & ﬁ % afan

bridegroom during marriage-

(A} Paika (B} Chhau
(C) Domkach {D) Lahasua

One of the following is not an Indo Aryan language:
(A) Angika
(C) Korwa

(B) Nagpuri
(D) Sadri

Who has invented the Santhali script Ol Chiki:

(A) Pandit Raghunath Murmu
(B) Byomkes Chakrabarti
(C) Dr. Narayan Oraon

(D) Francis Ekka

Mica mines is found extensively in district of:

(A) Giridih (B) Koderma

(C) Dumka {D) Both (A) & (B)

As per census 2011, it is the least populous district of
Jharkhand.

(A) Khunti
(C) Pakur

(B} Lalehar
(D) Lohardaga

The Multidimensional poverty index 2018 report
prepared by United Nations Development programme
and the oxford poverty & human development

initiatives makes the following observations about
Jharkhand.

(A) Jharkhand had shown the least improvement

(B) Jharkhand had shown the greatest improvement
(C) Jharkhand had shown no improvement

(D) None of the above statement valid about Jharkhand

The agriculture economy of Jharkhand state is
characterized by:

(A) Dependence an nature, low investment

(B) Mono cropping with paddy as dominant crop

(C) Inadequate irrigation facilities and small and marginal
holdings S

(D) All of these

Chhau dance is found in three styles named after the

location where they are performed. In Jharkhand name
of the location- -

7 e s @
(A) Tz (B) B&
(C), T¥d (D) TEgam
22, F=1  § o ey o wm Ad R
(A)x iR (B) g
(C) T (D) et
23. Hurh iy o Reh @ arfes fhem R &:
A) dfed g gy
&(E) B A
(C) 3f. TREYT I
(D) g wam
24, A9 P G IR e e F o ot
(Ay Fifre (B) BT
(C) gHH (D) @ (A) T (B)

25. 2011 H T & FIAR, ARGUS H FEQ PA TAHCA]
T R 8 5
(A) g& (B} TmER
(C) g3 (D) TR
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(C) FIR@ve 7 i 0 g Wi 78 fe ;
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(A) SHRI o e, g7 Fraer

(B) 7% &6 & &9 § 9 Uhe BE

(C) ot Ried gl qar g o it s &
(D')/UQ'QT-EH‘I’\?I

28. B% O M oW v Jew A ol ¥ R amae o
Frore o & orged R < 31 FRevE ¥ we A R

(A) 7gTH (B) Jifes
(A) Mayurbanj (B) Purlieu AC) YT (D) ST
{C) Seraikella {D) Koderma g
Oraon comb-cut is a: 29. W9 comb-cut ¥ TH-
(A) Painting (B) Dance L (A) e (B) T4
(C) Dish (D) Tribal ornaments (C) WNH (D) STIRIG oIqEer
This folk dance of Jharkhand has derived its name 30. FRG'S & 5§ 9% T4 & 7 T F W | T ¥
from a tree- (A) @ (BY T
(A) .Paika (B) Karma (C) B/ &% (D), 9o
(C) Chhau (D) Santhal
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One of the following is not a style of paintings-
(A) Oraon Bhitichitra

(B) Jado Patiya

(C) Lahsua

(D) Santhali Bhitichitra

Jharkhand owns about ____ of total miniral resources
of India-

(A) 40% ‘ (B) 30%

(C) 15% (D) 55%

Jharkhand has 26% of India's reserves of:

(A) Coal (B) Copper ore

(C) Iron ore (D) Bauxite

As per 2011 population census literacy rate of
Jharkhand state is-

(A) 76.24%

(B) 66.41%

(C) 56.42

(D) 62.41%

Find the odd one out on the basis of its location-
(A) Dassam Falls '

(B) Sadni Falls

(C) Jonha Falls

(D) Panch Gagh Falls

Jharkhand is bordered by ___in the North.
(A) Bihar (B) Odisha

(C) West Bengal (D) Chattishgarh

The famous 167 km “Singhbhum Trust Zone” the store
house of several important minerals, traverses-

(A) East Singhbhum

(B) Seraikela Kharsawan

(C) West Singhbhum

(D) All of the above

Bokaro is the famous for steel plant which is the
biggest in Asia and is built from the help of:

(A) Soviet Union

(B) America

{C) Japan

(D) Germany

Nilambar and Pitambar Sah, both brothers, who
created havoc for Britisher during freedom movement,
were the leaders of the:

(A) Santhal tribes

(B) Kharwar tribes

(C) Shabar tribes

(D) None of these

The district famous for stone & Biri making industry-

(A) Lohardaga (B) Chatra
(C) Pakur (D) Koderma
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Lawalong wildlife sanctuary is located within- 41.

(A) Deoghar district
(B) Chatra district

© (C) Bokaro district

42.

43.

44,

45,

46.

47.

48.

49,

50.

(D) Garhwa district

The state of Jharkhand witnessed presidential rule
since it's formation-

(A Two times
(C) Four times

(B) Three times
(D) Five times

Cultivable area of the state of Jharkhand — (choose
best answer)

(A) 4B lakh hectares
{B) 38 lakh hectares
(C) 79 lakh hectares
(D) 59 lakh hectares

Jharkhand agriculture performs -

(A) Far above the national average

(B) Far below the national average

(C) Just equal to the national average

(D} Marginally above the national average

Share of cultivated land used for cash crops in
Jharkhand: (Choose best answer)

[C-5]
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(AL 48 AT BRI

L(B)-38 T@ AT

(C) 79 W@ FRAX
(D) 59 @ BRI

FREE F 1 FEE B
(A) TSR A & 9gd e}

(B) TS ofmd & a5 Fr

(C) S ofea & GFeH AU
(D) TR ofted & A TR

Wﬁwﬁm%mmﬁa§qaﬂ'ﬁm%
(e e 1 1 %)

(A) 15% (B) 20% (A) 15% (B) 20%
(C) 10% (D) 5% (C) 10% » (D) 5%
“Saubhagya yojana” launched by the chief minister 46. YAl YgaX aF &N WA # R drr q-lﬁii EST;%“W
Raghubar Das is aimed at providing - to all villages ARETS U] $ A=K et G} & — g HI
across the state of Jharkhand- (A) Yo
(A) Drinking water JA{B) et
(B) Electricity (C) W S
(C) Sulabh Sauchalayas (D), anfermall FI g B
(D) Free education to girls
Chhuttupalu valley known as Lalki Ghaati is located in  47. @@ 8¢t & - & R SENIG udt g9 B F Rea &
this district: LAA) TS (B) 1@
(A) Ramgarh (B) Khunti (C) THem (D) wMERET
" (C) Gumla (D) Lohardaga :
Identify the wrong match: 48. T SIS F TEEM B
(A) Vaidyanath temple — Deoghar (A) I HRY - AR
(B) Tapovan - Ramgarh +(B) quie - HTE
(C) Haldighati Temple — Gumla (C) TR AR - T
(D) Jagannath Temple — Ranchi (D) =T/ HfeY - TR
The recorded forest area constitutes _ of the 49. IffifaT & 89 sREwe & ..... At 8% &1 Pt
geographical area of Jharkhand: ) O &
(A) 18.50% (B) 29.61% -+ (A) 18.59% (B) 29.61% ,
(C) 81.27% (D) None of these (C) 81.27% (D) &% & HE
Jharkhand has forest types- 50. LIS ¥ 7 FRear &
(A) Tropical Moist Deciduous (Ay IO oI qerers
(B) Tropical dry Deciduous (B) Iviestia g !
(C) Subtropical Broadleaved Hill forest. (C) U-SwiHeeY fge oy &=
(D) All of these (D) 3 7+t
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- Some men promised to do a job in 18 days, but six of

them became absent and remaining did the job in 20
days. What is the original number of men?

(A} 30 {B) 40

(C) 60 (D) 20

' [C-6]
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The H.C.F. of 204,1190 and 1445 is : 51. 2041190 T 1445 F1 HewT AT
(A) 17 (B) 18 (o 17 (6 18
(C) 19 (D) 21 ) 19 )
A number whose fifth part increased by 4 is equal to. 52. TH WAl R uied RE ;ﬁ 4$ﬂ$ z‘lm ;T;B Ty
its fourth part diminished by 10, is : awd 99 e 3 10 T B
(A) 240 (B) 260 (A) 240 (B) 260
(C) 270 (D) 280 () 270 (D)E280
When a plot is sold for 18,700, the owner loses 15%. 53. T T qas F 718,700 W a:; E %E’Iﬂﬂﬂ a_q_:b:r 15%
At what price must the plot be sold in order to gain F THEM &l g 9\ @ R 5
15 15% 1 w9 & TH?
(A) 21,000 (B) 222,500 (A) 721,000 (B) Z22,500
(C) 325,300 (D) 325,800 (C)i,?zs,soo @ 25,800
A sum of 712,500 amounts to ¥15,500 in 4 years at the 54. 12,500 H T& T W?W W AR a6 & 215,500 77
rate of simple interest. What is the rate of interest? R &1 = @ & A e
(A) 3% (B) 4% (A) 3% (B) 4%
(C) 5% (D) 6% (C) 5% LID)- 6%
A goods train runs at a speed of 72 km per hour and 55. % WIETR! 72 Reciniie SRY o2 @1 a1 & St ¥ o 250
crosses a 250 m long platform in 26 seconds. What Is drer @R Qeen] F 26 A5 F A FN ¥ A A A
the length of the goods train? w4 87
(A) 240 m (8) 250 m (A) 240 A (B) 250 HeX
(C) 260m (D) 270 m (C) 260 (D) 270 HeX
The average of 5 consecutive even numbers A, B, C,D 56. it wie a9 geasi A, B, C, D @1 E &I e 66 %1 B
and E is 66. What is the product of Band E ? Tl E 1 IR T &7
(A) 4352 (B) 4340 (A) 4352 (B) 4340
(C) 4480 (D) 4224 (C) 4480 (D) 4224
Thirty-five women can do a piece of work in 12 days. 57. 35 HfewId ©6 i @ 12 R 7 & g & @ 3 A
How many women would be required to do the same -~ 21 Ra & g0 & & R fert AfeaT @ STeRd erft?
waork in 21 days? y (A) 20 (B) 30
(A) 20 (B) 30 (C) 18 (D) 32
(C) 18 (D) 32 :
There were 40 girls in a class. Smita, who weighs 5§8. T® F&l F 40 afwed ¥ Rear Rraer a=m 50 Rt g,
50kgs, leaves the class. A new girl Rajni comes and P BIEHT oo A Bl O S 6 T3 AR 3w ¢
increases the average weight of the class by 1/4 kg. Re@ SR w1 olga e 1/4 R 9 S R
Find the weight of Rajni. T & 99§ B
(A) 40kg (B) 60kg (A) 40 Rsarm (B) 60 frimm
(C) 30kg (D) 35kg (C) 30 Rreiizme (D) 35 fraim
A bag contains 50 paise, 25 paise, and 10 paise coins 59. & & ¥ 50 B9, 25 9} o 10 W D R 345 3
in the proportion of 3:4:5. The total value of these arqur § X g ¥ & Rl @ g9 Ied 12 59 81 25 LK
coins is Rs.12. Find the number of 25 paise coins. & Rt & "o s
(A) B (B) 16 (A)- 8 (B) 16
(C) 24 (D) 25 (C) 24 (D) 25

60. T\ TN I T T B 18 R § QU O N 7w Ry afe

FHAG AT eRR @ MR a0 RA AT T
frm @i & arafes gem R o

(A) 30 (B) 40
(C) 60 (D) 20
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HHIY &l
61. The chief instrument through which Lord Dalhousie 61. W& Z&e R qrom @ 1S sl 3 e 3 A

implemented his policy of annexation was the
(A) Treaty of Indian Allies

(B) Doctrine of Lapse

(C) Modemnizing Indian Society

(D) Treaty of Perpetual Friendship

Ojapali is a famous dance form of which sfate? 62.
(A) Bihar (B) Maharashtra '

(C) Odisha ' (D) Assam

A major dance form of Andhra Pradeshis: 63.
{A) Kuchipuddi (B) Bharatnatyam

(C) Raasleela (D) Bihu

The Bodo language is spoken in which of the following  64.

states ?

(A) Mizoram (B} Tamil Nadu

(C) Assam (D) Arunachal Pradesh -

Holding of Panchayat elections is decided by: 65.

(A) The District Magistrate (B) Central Government
(C) State Government (D) None of these

Who among these has been given the Bharat Ratna 66.

award in January 20197
(A) Atal Bihari Vajpayee
(C) Pranab Mukherjee

(B) Sachin Tendulkar
(D) C.V. Raman

Match list | with List Il

List -1 List—11 ;[
Cup Games

A. THOMAS CUP 1. Football

B. FIFACUP 2. Polo

C. AGAKHAN CUP 3. Lawn Tennis

D. DAVIS CupP 4. Hockey

E. EZRA CUP 5. Badminton Championship

(A) A4B1C5D3E2
(C) A1B2C4D3E5

(B) A5B1C4 D2 E3
(D) A5 B1C4 D3 E2

Which is the highest Gallantry Award given by Govt. of 8.

India?

(A) Mahavir Chakra
(C) Ashok Chakra

' (B) ParamVir Chakra
(D) Shaurya Chakra

The 76" anniversary of Quit India Movement named as  69.

August Kranti Diwas was obseived in India on
2018.

(A) 8" August
(C) 15" August

(B) 9" August
(D) 19" August

Which one of the following travelers visited India 70.

during the Gupta period?

(A) Hiuen-Tsang
(C) Marco Polo

(B) Fa-Hien
(D) Nicolo Conti

[C-7]
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AR §HR T TG T dRaT YRR Br-a1 87

(A) 7o =H (BY-9THEIT =
(C) uMNF TH (D) 9t =%

T i Raw & w9 § i qrRa 899 e 9 764

s A 7 ... 2018 F FWRE N T o
(A) 8 3T (B) 9 Ty
(C) 15 T (D) 19 &I

Pt # @ B9-11 a6l a0 #1003 R wRa 5 9 R
qr?

(A) TLI-wMm
(C) wmht it

(BY wfar
(D) T @
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Which is right statement related to Article 370 of the
Indian Constitution

(A) Provides reservation to OBCs

(B) Provides reservation to Women

{C) Provides special status to Jammu and Kashmir state
(D) Provisions for human rights

What is the minimum qualifying age to become a
member of Grama Panchayat?

(A) 18 years (B) 21 years
(C) 25 years (D) 30 years
The ozone layer restricts

(A) Ultraviolet radiation (B) Visible light

(C) X-rays (D) Gamma rays
Sardar Sarovar dam is built on the river
(A) Tapti (B) Mahi

(C) Chambal (D) Narmada

Which one among the following is not an important
factor of climate of an area? 1

(A) Latitude

(B) Longitude

(C) Altitude

(D) Distance from the sea

The phases of moon are caused by i

(A) The rotation of the earth
(B) The rotation of the moon
(C) The revolution of the earth
(D) The revolution of the moon

According to which of the Articles in the Constitution of
India, the President has a power to confer or proclaim a
state of emergency in the whole or part of India if he/she
feels that a grave situation has arisen, in which the
security of India or part of its territory might get
threatened by war, external aggression, or rebellion?

(A) Article 352 (B) Article 354

(C) Article 356 (D) Article 360

Where are the coal reserves of India largely concentrated?

(A) Son valley (B) Mahanadi valley
(C) Damodar valley (D) Godavari valley

i
Which of the following rivers have almost the same
point of origin ?
(A) Tapi and Beas
(B) Brahmaputra and Ganga
(C) Indus and Ganga
(D) Brahmaputra and Indus

Lines joining places receiving equal amount of rainfall
are called :

(A) Isohelines
(C) Isotherms

(B) Isobars
(D) Isohyets

71.

72.

73.

74.

75.

76.

78.

79.

80.
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Match List | with List Ii: 81.

List | (Battles) List Il (Fought Between)

A. Kalinga War 1. Ibrahim Lodhi and Babur
B. First Battle of Panipat 2. Rana Pratap and Akbar
C. Battle of Haldighati 3. Ashok and Kalinga

D. Battle of Khanwah 4. Babur and Rana Sangha

(A} A3, B2 C1,D4 (B) A3, B1,C2 D4
(C) A3, B4, C2, D1 (D) A3, B2, C4, D1

Put the following dynasties in their chronological 82.

order: ;

A. Lodhi B. Tughlaq

C. Slave D. Khilji

(A) CBDA (B) DCBA

(C) CDBA (D) BCDA

What is forest cover of total land area of our country 83.
(approx.):

(A) 35% (B) 22%

(C) 40% (D) 18%

The monetory unit of Bangladesh is: 84.
(A) Rupee (B) Taka

{C) Pound (D) Dollar

A solar eclipse occurs when: 85.

(A) The Moon comes between the Earth and Sun

(B) The Sun, Moon and Earth are in triangular formation
(C) The Earth shadow falls on the moon

(D) All of these

Which was the first committee to recommend 86.

Panchayati Raj system in India?
{A) PV Narsimha Rao committee
(B) Balwant Rai Mehta committee
(C) LM Singhvi committee

{D) Morarji Desai committee

Currency of Holland is: 87.
(A) Yen (B) Dollar
(C) Euro (D) Deutch Mark

In which year the slogan ‘Quit India’ was given by 88.

Gandhiji:

(A) 1940 (B) 1942

(C) 1939 (D) 1938

The speaker of Lok Sabha is removed by the: 89.

(A) President

(B) Majority of members of Lok Sabha
(C) Prime Minister

(D) Member of both houses of Parliament

‘Kadambari’ was written by: 90.
"(A) Ravindra Nath Tagore (B) Namdev

(C) Banabhatt (D) None of these
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If a Minister of a state wants to resign, to whom he 91.

92.

93.

94.

95.

96.

- (C) 28 States and 7 Union Territories

97.

98.

99.

100.

eY

7

should address the letter of resignation?
(A) Chief Minister of State

(B) Speaker of Vidhan Sabha

(C) Governor of the State

(D) Leader of his/her political party

Arjuna Award in India is given for

(A) Bravery on battlefield

(B) Outstanding performance in sports
(C) Exceptional service in emergency
(D) Exceptional service of slum dwellers

Bihu is folk festival of :

93.
(A) Assam (B) Jharkhand
(C) Karnataka (D) Kashmir
Kathakali is a dance prevalent to which state? 94.
(A) Kerala (B} Karnataka
(C) Tamil nadu (D) Andhra Pradesh
Match the states (List 1) with their capitals (List Il): 95.

States (List 1) Capitals (List Il)

A. Chattishgarh 1. Kohima

B. Telangana 2. Agartala
C. Tripura 3. Gangtok
D. Nagaland 4. Raipur

E. Sikkim 5. Hyderabad

(A) A4,B3,C2 D1 E5

(B) A2, B5, C1, D4, E3
(C) A4,BS5,C3,D1, E2

(D) A4,B5,C2,D1,E3
Number of states and Union Territories in Indla

(A) 27 States and 9 Union Territories
(B) 29 States and 7 Union Territories

(D) 28 States and 9 Union Territories

The highest civilian award of India is

(A) Arjun Award
(C) Padam Shree

97.
(B) Bharat Ratna
(D) Ashoka Chakra

As per the newspaper reports Government of India has  98.

“ finally agreed to purchase advanced MRMRs for |ts

naval forces. What are these MRMRs?
(A) Rockets. (B) Aircraft

(C) Warships (D) Radar system

The capital of the Mughal Empire was shifted from 99.

Agrato Delhiby

(A) Jahangir (B) Aurangzeb

(C} Humayun (D) Shah Jahan

The Rajya Sabha (the upper house of the Parliament of 100.
_ India) can be dissolved by | :

{A) Lok Sabha (B) Constitutional amendment.

{C) President. (D) None of these
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101. Which  energy conversion takes plac - : .
photosynthesis? place during 101. ST HAger F FF-w1 o @Y Br 87

(A) TaTEE Sl Y THA et B
(B) Ui Tt | WHW oA B
(gmsrmféwmﬁisma?r

(A) Chemical energy to light energy
(B) Mechanical energy to light energy
(C) Light energy into Chemical Energy

(D) None of these © e
102. Who invented vaccination for small pox? 102. 95% 3 fo &F & anfaspr Rewa fobar &n?
(A) Jonas Salk
(B) Edward Jenner Eg;/?;?s‘m g
(C) Waldemar Mordecai Haffkine ; (C) TR ‘ﬂ'ﬁﬁﬂ FIhIchT
(D) Charles Darwin (D) =wd SRR

103. On heating which of the following substances, Plaster 103. e & & $19-3 v # fd F W W B IR
of Paris can be obtained? o R S war 87

(A) Washing Soda | ") N T T
(B) Baking Soda : (B) TF st
(C) Gypsum (Cy e
(D) Granite ! ) =
104. Night blindness is caused due to deficiency of: 104, Wi fraen @ & @
(A) Vitamin A ~ (B) Vitamin B (A)/Frerfr A (B) Fai B
(C) Vitamin C (D) Vitamin D ' (©) R C (D) e D
105. Who discovered electrons: | iy 105. AR H G RHEa A
(A) Rutherford (B) Niel Bohr ‘ (A) TR (8) T I
(C) J.J.Thompson (D) None of These (C)-31.51. g (D) ¥ & P T
106. Which of the following is a not a renewable form of 106. = & & P Tt H Th TGN &9 TE 27 '
(A) Wave energy — (B) g faga &4=
(B) Thermal power plant . (C) A Fett Y
(C) Geothermal energy ' )] SR et '
(D) Tidal energy
107. The persistent use of CFCs or Chloro Fluoro Carbons 107. CFC STel &l Wl $H1 & P A B w T
is leading to which of the following threats? Pr7 & @ F9-1 &aa 9= 8 W@ 87
(A) Soil Degradation (A) T R
(B) Water poliution : (B) ST gHT :
(C) Ozone layer depletion L) afeiH gva [:gmor
(D) None ofthese (D) =78 ¥ 32 7
108. Echo is caused due to- 108. wfreafy Fr FOT & IO B 8
(A) Reflection (B) Refraction (A) TUEEH (B) ST9geT
(C) Rarefaction (D) None of these (C) faem (D) 378 | &g &
109. Which of the following tissues is responsible for 109. T8l % ¥ @ ¢ F= & § F-W Fas Rrdar 87
storing fat? (A) ke (B) T8I FaF
(A) Cartilage "~~~ +  (B) Adipose Tissue (C) FHaFEh T (D) 378 § #E &
(C) Areolar Tissue (D) None of these i ;
110. Which of the following produces antibodies to fight 110. Fr=i 7 & &1 T & @3 & fw iy Rvs S wxan 7
diseases? ' (A) T T PIAET :
(A) Red Blood Cells : (B} 99 Tk il
(B) White Blood Cells ©)
(C) Blood Platelets (D) T | FE 7

(D) None of these
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111. What is the Sl unit of electric current?

(A) Watt (B) Volt
(C) Ampere (D) Coulomb

Which oi’ the following explains the phenomenon of
twinkling of stars?

(A) Reflection

(B) Atmospheric Refraction

(C) Scattering of light

(D) Dispersion

112.

113. Application of zinc to iron or steel materials to prevent

them from rusting is known as-
(A) Alloying (B) Bleaching
(C) Lubrication (D) Galvanisation

114. Which of the following is not a greenhouse gas?

(A) Nitrogen (B) Methane
(C) Water Vapour (D) Nitrous Oxide

115. Which of the following is used in cars to measure

distance travelled?
(A) Odometer
(C) Distometer

(B) Barometer
(D) Speedometer

116. Which of the following is used to measure the purity of

a sample of milk? .

(A) Hydrometer
(B) Barometer
(C) Lactometer
(D) None of these

117. Lack of lodine causes which of the following

diseases?

(A) Hypokalemia
(B) Goitre

(C) Thyroid

(D) Night Blindness

118. Which of the following devices is used to measure the

direction and speed of underwater objects?
(A) Silicon Diode
(C) . Speedometer

(B)‘ Hydrometer
(D) Sonar

119. Where are proteins synthesised in the cell?

(A) Cell wall
(B) Lysosomes
(C) Ribosomes
(D) Chromoplast

120. Water kept in an earthen pot becomes cool during

summer, due to the phenomenon of- ’

(A) Osmosis

(B) Diffusion

(C) Transpiration

(D) Evaporation
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Please read the following instructions carefully.

’ PR | 5
.

Write your Roll No., Question Booklet No., Paper and Series on the OMR Answer Sheet_oarefu!ly and sign at appropriate
place. If these are not written on the OMR Sheet and not signed, its evaluation may not be done and it may be cancelled.

Strictly comply the instructions gwen on the question booklet and by the centre supenntendent / centre observer and

invigilator. AR : . £ O

+ - . y
Notes, books, Calculator, Cell phones, Scanning devices, Pagers and other Electronics devices etc. are not allowed to be
carried in the examination hall. Ahy candidate if found possessing/using these materials or who are found coplng or engaging
in unfair means, their candidature will be rejected and penal action may be taken against them. '

The examination is. of objective type. The question Booklet contains a total of 120 questions and thelotal time allotted is 120
Minutes. All questtons are compulsory and carry 3. marks each. Every correct answer will get 3 marks and 1 mark will be
deducted for each wrong answer. ) w {7

The candidate must check that the Question Booklet has 120 questions with multiple chéice answers. If any dlscrepancy is
found report to the Invigilator immediately, so that the Question Booklet may be replaced. -

Each abjective question has four options; out.of which one option is correct. Your task is to choose the correct answer and
mark your Answer by darkening the circle 'on the OMR Answer Sheet, NOT on the Question Booklet.- . <

L
Darken the oval completely in such a way that the alphabet inside the oval should not be visible. Darken oval for answering

each question. Examples of Correct/Wrong method of darkening ovals have been given on OMR Answer Sheet. .

Correct Method Wrong Method “ b
cCeco: cece "~
g
i CeCC :
B CCeC :

1

Use Black Ball Point Pen for darkening ovals and filling the box on OMR Answer Sheet. Dot not use Pencil.

Please do not waste your time on such question WhICh appears to be difficult for you and use properly the allotted time.;
Attempt questions one by one and hard questions should be attempted at last. Jhis is merely a suggestion.

10.

DO NOT scribble or do rough work or make any stray marks, damage or incomplete filling of QMR Sheet. DO NOT wrinkle or fold
or staple it. The candidates doing so shall be responsible for this and OMR Sheet may be canoelled T

11.

f e - ~

Rough work should be done at the appropriate place given specially in the question booklet

12.

The candidates are required to submit thelr first two copies of OMR Answer Sheet to the invigilator after the examination.
Candidates are allow to carry third copy of thelr OMR Answer Sheet form the examination hall after examination.

13.

Questions are in both English and Hindi. If any confusion arises in the Hindi version, please refer to the English version of the
question. In"case of dispute, the English version will be considered as authentic. :

o
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